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>
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x1<-¢(1,2,3); x2<-c(4,5,6); x3<-c('a’,'d’,'c’)

Al<-matrix(1:6, nrow=2); A2<-matrix(1:6, nrow=2, byrow=TRUE)
Cl<-data.frame(c(1,2,3), c(4,5,6)); C2<-data.frame(x1,x2)
Dl1<-list(x2, x3); D2<-unlist(D1)

x1: class

x3; class

t(A1[,1:2])*A2[,1:2]
AL, 1:2])%*%A2[,1:2]
Cl; C2

C2[[1]]; C2[,1]; C2%x1
C2[C2%x1>2.]

DI[[1]]

D2([2]][2:3]

A (x)7F 60 o]Ato]H pass, IEA] ¢ZO0WH fajlog HHst= if-elsed
x=82

if(x>=60) {print("pass”)} else {print("fail")}

#st =59, 47 800]/d0l¥ "pass’, ot ™ "fail”

> x<-¢(90,50,85,100,70)

\4

#

\4

\2

ifelse(x>=80, "pass", "fail")

x=¢(10,12,15) o1 AL x[i]|& &£HsI= fore
x<-¢(10,12,15)
for(i in 1:3){ print(x[i])}

x=c(10,12,15) Q1 4 x[il/39] UWHA|E &£=5t= for
x<-¢(10,12,15)
for(i in 1:3){ print(x[i]%%3)}

#x=(1,2,3,4,5), y=(1,3,5,9,11), 2z=(2,4,6,8,10), F=709] A™E(M(xz, V),

>

>

>

x<-1:5, y<-¢(1,3,5,9,11), z<-¢(2,4,6,8,10)

plot(x,y)
lines(x,z,col="red")

(xy))

BA

a2]7]



x=(1,2,3.4.,5), y=(1,3,5.9,11), z=(2.4.6.8,10), F719] AR = (H(xz, BIh), A(xy)) BA 12]7]
> plot(x,y)
> points(x,z, col='red")

#x=(10,15,20,22,27,33,34,34,35,37,45,46), boxplot, histogram, £7]-9 Zj= T2]7]
> x<-(10,15,20,22,27,33,34,34,35,37,45,46)

> boxplot(x)

> hist(x, right = FALSE, breaks=c(10,20,30,40,50))

> stem(x)

#AFEAE ot egl ~ egb
egl) 3t AlsHstH "Hello !" 7F T2 EL= o]20] 'greet' gt= &k 0hE 7]
> greet<-function(){
> print("Hello !")
}
greet()

eg2) ol x5 U=oto] A3PstH 'x7F 79] 8j4QIA] ofdX]'e] Auprt PoljAl= o]Fo] 'seven'
olgt= o4 THE7]

> seven<-function(x){

> if(x%%7==0){cat(x,"=79] Hj3")

> } else {cat(x,"=72] HjjZ~opd") }

>}

> seven(114)

egd) &40l x5 Psto] MaPste 'x<0 o] 0, x=00]9 x'9] Auprt PRl 0] F0] relu’ 2t
L 5lA O

> relu<-function(x){

> if (x<0) {return(0)

> } else {return(x)}

>}

> relu(-2.1); relu(1.5)

egd) &40l x1.x22 YHsto] AsPsty '100x(x1+x2)' 9] A7t FLsfAl= o] F°] 'hundr’ oJ2t=

g4 ors)

> hundr<-function(x1,x2){

> x=100*(x1+x2)
> return(x)

>}

> hundr(1, 3)

>

y=hundr(2.1, 2.4) # hundr(2.1, 2.4) 21t= yo| A&



egh) At x5 UHsto] AsYsHH. x-7, x+70] FLofA]+= o] 0| 'seven?' o|2t=

> seven2<-function(x){

o
>
rEI
fun
N

> y=numeric(2)
y[1]=x-7; y[2]=x+7

>
> return(y)
>
>

(¢]]

egh) T4+P PAIFHH x5 dHbsto] APstH Py 4ol FaliRl= o]Fo] 'summr' o]2h=
summr<-function(x){
y=numeric(2) # 37]7} 291 ¥ gr=7].

y[1]=mean(x); y[2]=var(x)

t
x<-c(1,3,5,7,8)

>
>

>

> return(y)
>

>

> y=summr(x)
>

# =i YEPstE: 1099 dex Zab: (X.5.4)=(L. M, H)
> x<-c('L' 'H', 'M'. 'M', 'L', 'H', 'H'. 'M', 'H', 'M")
>
>

#7128
> x<-¢(10,15,45,34,20,46,33,34,35,37,22,27)
> fivenum(x)

> summary(x)

#apply &

> A<-matrix(1:12, ncol=4); A

> apply(A,1l,mean) # mean, min, max, sd
> apply(A,2,mean)

> B=A: B[2,3]=NA: B

> apply(B,1,mean)

> apply(B,1,mean, na.rm=T)



